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sin0°, cos0°, sin25°,
cos25°, tan75°

L
o

iy
o

v Vv vV Vv VvyvyvyVvyy
0x
i

sin0°
HEFD sin25°
HE D cos25°
HED cos0°
HE tan75°
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sin0°=0, cos0°=1,0°<sin25° < %,
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& AZHH| 9] HE H 1l ginx = 0.6691 & o, x 9] 322

2t | AFQl(sin) | EAFRl(cos) | EtMIE(tan)

59 | 0.6293 | 0.7771 | 0.8098

40 | 0.6428 | 0.7660 | 0.8391

4 | 0.6561 | 0.7547 | 0.8693

42 | 0.6691 | 0.7431 | 0.9004
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sin42° = 0.6691
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(Wol) = = x 8 x 10 x sin (180° — 135°)
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DE=13°]BE2 CE= V132-122=5
AD = x 2t 514
AG=AH=6°22DH=DI=x-6
EF=CF-5=x-6-5=x-11
ED=x-11+x-6=13

L x=15
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thS IHoA AB = 300m ©]1, A A HoA Ate] Eoj7] ¢ 24L&
HTHE Zho] 45° & wf, AFo] 0] CD & +-514A?
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@150 V3m @ 150 V2m ® 150m
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AABD ©|4] AB = 300m, BD = 150, AD = 150 V3 m
AADC ©°4 AD = 150 V3 m
w2kA CD = 150 V3 m ©|t}.
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14 - 2x =10

—2x=-4
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17. o& J2")A LABC = 135° 0|2 LAED = 110° 2 & o, .CAD ]
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/ABC + /AEC = 180° , /AEC = 180° —135° = 45° , /CED =
110° - 45° = 65°
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64 = 16 + 8x S x=06cm




19. o3 199 Yol &= A AB, CD 9] & P 2t 6k2f /APC = 60°
VN N\
A off, 5.0ptAC + 5.0ptBD 2] Zol= o] o] <] doje] 2 Hjgl
7F?

.
AR BC S 2, 5.0ptBD 9] YF7H2 o° 5.0ptAC o] YF7HS
b° 2t St a° + b° = 60°
/N N _

5.0ptAC + 5.0ptBD o] ¥5=2}9] 9ol 60° o] 2= 1159 F4
ZF9] 92 120° °]H.

_ _ 1
watA o] EdE 59| Zojof HlFetRRZ 120° = 360° x 3

olct.




20.

Ct -
[— ]

[ 2
> Heh: 842

B

PD x PE = PQ x PC

OP = PC = x2t1 519
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